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Maximum : 100 marks

Time : 1 hour and 15 minutes

1. Name the ocean which known as ‘Chola lake’ in Ancient India :
{A) Bay of Bengal (B) Indian Ocean
(C) Arabian sea (D) China sea

2.  Which is the year known ag the year of the Great Divide in the Census history of India?

(A 1911 (B). 1921
(C) 1931 (D) 1941
3. Name the Indian state with least forest area :
(A) Madhya Pradesh (B) Rajasthan
(C) Punjab (D) West Bengal

4. . The state, where the river Brahmaputra first touches in Indian soil :
(A) Missoram : (B) Sikkim
(C)  Manipur (D) Arunachal Pradesh

5. Name the first privatised river in India :
{A) Shionath (B) Luni "
(C) Narmada (DY Suvarna rekha

6. Who is the brain behind the MGNREP 7
(A) Dr. Manmohan Singh (B) Joseph Stiglitz
(C) Jaquis Dressey (D} P.Chidambaram

7. Name the first Prime minister who served as the vice president of the National Planning
commission of India :

(A) Jawaharlal Nehru (B) I K Gujral
() Dr. Manmohan Singh (D) P.V. Narasimha Rao

& Name the British Army officer, who assasinated by Mangal Pandey :
(A) Lord Hudson ' (B) General Dyer
(C) General Herit : {IDy Sir Hugo leever

9. Name the British Governor General during the period of Jallian walla bagh massacre :
(A) Lord Hardinge (B) Lord Chelmsford
(C) Lord Dufferin (D) Lord Linlithgow
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Who is known as the ‘Grand Father of Indian Nation?
{A) Bal Gangadhar Tilak (B) Gandhiji
() Dadabhai Naoroji (D) Dayananda Saraswati

Name the author of ‘Mother India’, which was criticized by Gandhiji for its criticism on
Hinduism :

{A) Madaline slade (B) Catherine Mayo

(C) Elizabeth noble () Catherine Mary Heliman

Who is the director of the controversial film, ‘Innocense of muslims™
{A) Mac Mul Buff By Alkiro Kurasova
(C) Nacaula Basli Nacaula (D) James Camaroon

13. Which is the first Indian State in literacy?

{A) Kerala (B) West Bengal
{C) Punjab (D) Tripura
14. The most awaited Lokpal — Lokayvukta Bill passed in Indian parliament on :
{A) 18 December 2013 (B) 16 October 20 13
() 11 November 2013 (D) 18 September 2013
15. First soil museum in kerala located at :
(A) Kottayam (B) Thiruvananthapuram
(CY Palaklkad (D} EKasargod
16. Mission Mangalyan, India’s Mar’s Journey started on :
(A) Now. 4, 2013 (B) Nov. 6, 2013
(C) Nov. 7, 2013 (v Nov. 5, 2013
17. Who is the first Indian who won gold medal at the Archery world cup in 20137
(A) P.V. Sindhu . (B) Saithna Nehwal
(C) Dola Banerjee (D) Mary Kom
18. Name the river in Kerala, known as ‘Baris’ in Ancient times :
{A) Periyar (B) Pampa
(C) Chaliyar (D) Nila
19. Who was known as the Father of Literacy in Kerala?
(A) Chavaravachchan (B) Arnose Pathiri
(C) Gundert (D) Lord Macaulay

20. Name the reformer in Kerala, who was described as the ‘immortal personality among the
greatest revolutionaries of India’ by Sarojimi Naidu?
(A)  Avvankali (B) Mannath Padmanabhan
(C) Dr. Palppu (D) Vakkom Moulavi
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29.
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Some body cleans the room every day ;
(A) The room was cleaned evervday

(C) The room is cleaned everyday

‘Belief that there is no god’ :
(A} Pantheism
(C) Agnosticism

Choose the correct spelling :
(A) grammar

(C) grammer

I prefer apples Oranges :
(A) than
(€ with

The blue whale is
(A) largest
(C) the largest

Had he helped me :
(AY I would have paszed
() 1 would pass

known animal :

(B)
(D)

(B)
(D)

(B)
(D)

(B)
()

The room has been cleaned evervday

The room had been cleaned evervday

Athelsm

Polytheism

gramar

gramer

to

then

most largest
the large

I will have passed

I will pass

There —— thirty people in the theatre when we arrived :
(A) 1s (B} were
(C) have (D) has
globalisation knowledge in ayurveda came from people :
(A) prior to (B) prior than
(C) to prior (D) the prior
Everybody has got the pass :
fA) have they? (B) _ hasn't they?
(C) haven't they? (D) hasn't he?
1 — for you since 10 O'clock this morning:
(A) have been waiting (B) had been waiting
(C) was waiting (D) am waiting
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41.

42,

43.

44.

46.

47.

48.

Kinship iz an example of :
{(A)  Achieved status (B) Ascribed status

(C) Pre set status (D) Status Image

Social change refers to change in
(A)  Value avstem {B) Dress

(C)  Food habits (D) Habitation pattern

Social stratification implies :
(A) Social Justice (B) Social Inequality

()  Social Injustice (D) Social Equality

Norms in sociology indicates :
(A) the normal standards of behaviour
(B) tendency of human beings to move up
(C) ethical ideas of society

(D) standardised generalisation about normally expected modes of behaviour

The life of the people in agrarian society is marked by
(A) Simplicity {B) Mental strain

(C) Impersonal relationships (I Superficiality

Which of the fmlluuving is an informal method of soeial control?

{A) Belief (B) Coercion
(C) Law (D) Eduecation
The distinction between upper class, middle class and lower class is based on -
(A)  Wealth (B) Birth
(C)  Education (D)  Polity

An achieved status is that is ¢
(A) shared by caste-minded people (B) inherited from parents

(C) derived from abilities and skills (1) depends upon biclogieal cond

1tion
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49. Class strugele is most intense in :
(A) TFeudal society (B) Primitive society
(C) Capitalistic society (D) Socialistic society

50. In which of the following systems flexibility of mobility exists?
(A) Estate system (B} Caste system
(C) Class system (D)) None

51. The social norms :
(A) give cohesion to a society : i
(B) lead society to disintegration :
(C) make society rigid
(D) destroy the freedom of the individuals

52. CSWB was set up in India in the year:
(A) 1950 : (B) 1999
© 1953 (D) 1986

53. Division of labour is associated with : |
(A) Planning (B) Organizing |
(C) Coordinating (D) DBudgeting
54. The process of transforming social policy into social services and the use of experience in
evaluating and modifying policy :
(A) . Soecial Action (B) Social Welfare Administration
(C) Social Research (D) Social service

55. (ne man marries more than one woman at a given time is called as :
(A) Bigamy (B) Exogamy
(C) Polyandry (D) Polygyny

56. Which is a model of community organization?
(A) Community Development (B) People’s participation
(C) Locality Development (D) Survey
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63.

64.

The coneept of primary group was given hy :
(A)  Max Weber ] {B) Douglas Me Gregor
(C) Charles Cooley . _ | (1)) Mead

ABC analysis is related with :
(A) Inventory Control (B) Reporting
(C) MIS (D)  Purchase

The ‘political activist approach’ in Community organization was founded by :
(A) Jane Adams : (B) Saul Alinsky
(C) Dorothy Day (D) Jesse Jackson

used to determine whether an organization’s long term investments such as
new machinery, replacement machinery, new plants, new products and research
development projects are worth pursuing :

{A) Cash Budget (B) Capital Budget
(C) Revenue Budget (D) Marketing Budget

‘Relevant Factor’ is caleulated in :
(A) Workmen's Compensation act (B) Trade Union act

(C) Payment of Bonus act (D) Minimum wages act

The ereation and maintenance of an internal environment in an enterprise when individual
work together in groups can perform efficiently and effectively towards the attainment of
group goals is termed as :

(A) Administration (B) Management

(C) Organization (D) Organizational Development

Protection of Women from Domestic Vielence Act was passed in the parliament in the year -
(A) 2004 (B) 2005
(C) 2010 (I» 2011

Principle of brevity is related to :
(A) Coordinating (B) Staffing
(C) Directing (D) Reporting
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67.

68.

69.

70.

ik

T2.

- iz a process in which a neutral third party listens to the disputing parties, gathers
information about the dispute, and then takes a decision which is binding on both the
parties,

(A) Arbitration (B) Negotiation
(C) Adjudication (D) Conciliation

The Family Courts was passed in the year:
(A) 1984 (B) 1968
b s (D) 1994

——— is a continuing process where by an individual acquires a personal identity and
learns the norms, values, behavior, and social skills appropriate to his or her social position
is termed as ;

(A) Socialization (B) Maturation
(Cy Identification , (D)  Any other

The term “society” came from the Latin word :
(A) Socius By Societas
() Social (D) Commune

How many scheduled employments in the Ceniral Sphere are there according to
The Minimum Wages Act, 19487

(A) 45 ' @) 64
(€) 54 (D) 47

Kerala Toddy Welfare Fund Board is under the department of :
(A) Social Welfare : (B) Labour and Rehabilitation
() Agriculture (I  Cooperation

Equal Remuneration Act was enacted in :
(A) 1975 (B) 1976
(C) 1980 (Dy 1951

The vear 1926 is marked by the enactment of :
(A}  Industrial Dispute act (B) Trade Union Act
() Minimum Wages Act (D) Payment of Bonus Act
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T8.

9.

An employer shall pay minimum bonus at the rate of ——— % of the salary or wages
earned by an employee in a year or one hundred rupees, whichever is higher as per Payment
of Bonus Act :

(A) 11.34 B) 9.3
() 105 (D) 8.33
The state policy Article ——— of the constitution envisages that state shall secure equal

pay for equal work for both men and women:

(A) 39 @ 18
(C) 38 401 I b
Objective of ———————— is to design and implement procedures, processes, and routines

that provide suitably detailed reports in an accurate, consistent, and timely manner:
(A) MIS By GIS
(Cy ILMS (Dy HERM

Job analysis and skill inventory is directly related with :
(A) Inventory management (B) Purchase procedure

(C) Manpower Planning (D) Performance appraisal

Paired comparizon method is used in :
{A) DBudgeting _ (B} Planning

(C) Performance appraisal (D} TReporting

— iz a deliberate planned and sustained effort to establish and maintain mutual

understanding between an organization and public.
(A) Public relations (B) MIS

(C)y Organizing (D) Administration

was the propenent of X and Y theory.
(A) Bertalanffy (B) Katz and Kalm
(C) Douglas Mcgregor (D) Edwin. B. Flippo
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31.

82,

83.

84,

86.

87.

are used in order to evaluate and determine the nature of a given individual or
other group’s characteristics and sociological attributes.

{A) Secondary groups (B) Reference groups

(C) Model Groups (I)) Treatment groups
Liguid that seeps through solid wastes or other medium and has extracts of dissolved or
suspended material from it is called as :

{A) Leachate (B) Vadose Water

() Biomethane (D) Phenole acid

WTE is associated with :
(A)  Divoree (B) Solid Waste
(C) Migration () Commerce
The Protection of Women from Domestic Violence Act was enacted in the vear :

(A) 2012 B) 2005
(€ 2002 (D) 2000

Conflict theory is related to :
{A) Bocial Control (B) Social Change
(C) Class (1))  Social Deviance

, the founding father of the modern sociology treated society as a reality in its

own right.
(A) Emile Durkheim (B) August Comte
(C) Taleott Parsons (D) G.H. Mead

Liberatory pedagogy in Community Organization is taken from the works of :
(A} Paulo Freire : (B} Fals Borda
(C) Lewin (D) Murray. G. Ross

consists of the beliefs, behaviors, objects and other characteristics common to the
members of a particular group or society.

(A) Institution (B) Norms
(C) Mores (D) Culture
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— isagroupof people primarily or initially communicating or interacting with

each other by means of information technologies, typically over the Internet, rather than in

Person.
(A) Pseudo community (B) Virtual community
(C) Nano community (D) Clique

The learned behaviour, shared by a social group, that provides a traditional mode of conduet

is known as :
(A) Mores (B) Norms

(C)  Association (D) Folkway

WGT" is associated with :

{A) Terroriam (B) Environment

(C) Corruption (1) Violence against women
When a suggestion is adopted by the meeting, the common decision recorded for taking action
ig known as :

{A) Agenda (B) Resolution

() Minutes (I Report
A formal document, which places a demand for goods or services, along with the details of the
product/service required is called :

(A) Quotation (B} Offer

(C) Tender (1) Order

Performance appraisal report is an example for :
(A) Routine report (B) Special report

(C) Analytical report (D) Informational report
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99.

100,

An interview conducted for assessing the ability of the interviewee to face high levels of

mental pressure 1s known as :
(A) Strain interview {(B) Exit interview

(C) Stress interview () Reprimand interview

A communication made public which tends to be false and harmful to an individual's

reputation is called :
(A) Defamation (B Invasion

(C) Fraud (D) None of these

What determines the content, organisation, style, tone and format of the message?
(A) Audience (B) Idea
{(Cy Medium (D) TPurpose

Which meaning includes all the associations and feelings evoked by the word?
{A) Denotative (B) Annotative

() Connotative (1) None of these

—illustrates the entire sequence of activities from start to finish.
{A) Organisation chart (B} Flow chart
(C) Bar chart (D) Pie chart .

A network build by an enterprise to interconnect the various company sites (production sites,
head offices, remote offices, outlets etc) in order to share computer resources over the

network is known as :
(A) Enterprise Private Network (B) Wide Area Network

(C) Local Area Network (D) Campus Network

The disruptions in understanding the meaning of words and information exchanged in the

communication process is called:
(A) Individual barriers (B) Interpersonal barrier

(C) Semantic barriers (D) Technological barriers
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